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Correct Marks: 4 Wrong Marks: 1
The area of a square is 5.29 cm?. The area
of 7 such squares taking into account the
significant figures is :

Options:

1 37.03 cm”

> 37.0 em?



|
3 37 cm”

4 37.030 cm?
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The position of a particle as a function of

time t, is given by

x(t)=at +bt>—ct®

where a, b and ¢ are constants. When the
particle attains zero acceleration, then its
velocity will be :
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The position vector of a particle changes
with time according to the relation

A

?{t} = 15¢2 ! b (4-20¢%)j. What is the
magnitude of the accelerationat t=17

Options:
1. 25

<> 40
z 50

4 100
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A particle of mass ‘'m’ is moving with speed
2¢" and collides with a mass “2m’ moving,
with speed ‘v’ in the same direction. After
collision, the first mass is stopped
completely while the second one splits into
two particles each of mass ‘'m’, which move
at angle 45° with respect to the original
direction.

The speed of each of the moving particle
will be :
Options:
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A wedge of mass M=4m lies on a
frictionless plane. A particle of mass m
approaches the wedge with speed v. There
is no friction between the particle and the
plane or between the particle and the
wedge. The maximum height climbed by
the particle on the wedge is given by :
Options:
2
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Moment of inertia of a body about a given
axis is 1.5 kg m?. Initially the body is at
rest. In order to produce a rotational kinetic
energy of 1200 ], the angular acceleration
of 20 rad/s?mustbe applied about the axis
for a duration of :

Options:
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A thin smooth rod of length L and mass M
is rotating freely with angular speed w
about an axis perpendicular to the rod and
passing through its center. Two beads of
mass m and negligible size are at the center
of the rod initially. The beads are free to
slide along the rod. The angular speed of
the system, when the beads reach the
opposite ends of the rod, will be :
Options:
My

1 M+ 6m

M g
M+ 2m

M wyg
M+ 3m

M
4 M+ m
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A test particle is moving in a circular orbit
in the gravitational field produced by a

mass density plr) = — Identify the

r
correct relation between the radius R of the
particle’s orbit and its period T :

Options:

; T?/R%is a constant

5 T/R2 is a constant



5 TR is a constant

4 T/R is a constant

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

] K
U THE FHU ZEHA HAe Fﬂr!=r—2 H

I T 413 H U AR F4 H g4 @
T U % FY HI B R 991 3HF A
T o == Hel T B :

Options:

, T/R® e 7

, T/R2fmm 2

., TRFP@ 7

, T/RFra &

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
i - i E{‘ -
HuIA £ 4Rl wilaet sell, plr) = — syedl
r

£0L trcll A 51261 Govst SReeus™ sl adousi
sl ol 53 6. Bsedl R 2 251 T 22
SIS ORUIR

Options:

, /R o Bm B,

. T/R2 u »u 8.

5 TR =i 20 8,

4 T/R W B 8,

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A wooden block floating in a bucket of

water has E of its volume submerged.

When certain amount of an oil is poured
into the bucket, it is found that the block is
just under the oil surface with half of its
volume under water and hall in oil. The
density of oil relative o that of water is :
Options:
1 0.6

5 05

=z 0.7

4 0.8
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Two materials having coefficients of
thermal conductivity ‘3K’ and "K' and
thickness ‘d" and ‘3d’, respectively, are
joined to forma slab as shown in the figure.
The temperatures of the outer surfaces are
‘85" and ‘8" respectively, (8, > 84). The
temperature at the interface is :

d ad
B, 3K K B4

Options:
0y . 56
; 6 6
0y + By
> 2
0, 2
z 3
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10 10



Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
femam T ToaaEr, 3K a91 'K 51 Sl
T U, 9 ‘d’ T 3d HEE 9l a1
el I SIS U qige 9 T B | IE
AT TAE F ATE FAE 0, AR 0, T
(0, > 0,) | TS = ATHA 2 :
d 3d
Bs| 3K K B4

Options:
UL I 5t
1 6 6
0y + By
2 2
ﬁ I 20
= 3 3
th 9”‘2
4 10 10

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

K e 3K ofedl Gl slgscll »is 2 2454
‘@ ot 3d wedl sastd auAdl A dERlA
15 {cHL B2l e sl 25 Alg H-tss
e B, Al cerl Bl anEl 2iesd
0, 2 0, B, (0,>0,). Al 2R
Al £.

d 3d

B 3K K 04

Options:
1. b 6
0y + By

-



Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A massless spring (k=2800 N/m), attached
with a mass (500 g) is completely immersed
in 1 kg of water. The spring is stretched by
2cm and released so that it starts vibrating,
What would be the order of magnitude of
the change in the temperature of water
when the vibrations stop completely ?
(Assume that the water container and
spring receive negligible heat and specific
heat of mass =400 J/kg K, specific heat of
water =4184 |/ kg K)

Options:

1 102K

1
5 101K
5 103K

i 104K
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The specific heats, C, and C,; of a gas of
diatomic molecules, A, are given (in units
of | mol 1K I} by 29 and 22, respectively.
Another gas of diatomic molecules, B, has
the corresponding values 30 and 21. If they

are treated as ideal gases, then :

Options:



A has a vibrational mode but B has

1 hone.

Both A and B have a vibrational mode

> each.

A has one vibrational mode and B has

= wo.

A is rigid but B has a vibrational

4 mode.
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A string 2.0 m long and fixed al its ends is
driven by a 240 Hz vibrator. The string
vibrates in its third harmonic mode. The
speed of the wave and its fundamental
frequency is :

Options:

1 180 m/s, 80 Hz

5 320 m/s, 80 Hz

5 320m/s, 120 Hz

4 180m/s, 120 Hz
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Options:

{ 180 m/s, 80 Hz

5 320 m/s, 80 Hz

5 320m/s, 120 Hz

4 180m/s, 120 Hz
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1 180 m/s, 80 Hz

5 320 m/s, 80 Hz

5 320m/s, 120 Hz

4 180m/s, 120 Hz
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Two cars A and B are moving away from
each other in opposite directions. Both the
cars are moving with a speed of 20 ms 1
with respect to the ground. If an observer
incar A detects a frequency 2000 Hz of the
sound coming from car B, what is the
natural frequency of the sound source in
carB ?

(speed of sound in air=340 ms ~ 1)

Options:

1 2300 Hz

> 2060 Hz
5 2250 Hz

i 2150 Hz
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Options:

;2300 Hz

> 2060 Hz
- 2250 Hz

3 2150 Hz
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The parallel combination of two air filled
parallel plate capacitors of capacitance
C and nC is connected to a battery of
voltage, V. When the capacitors are fully
charged, the battery is removed and after
that a dielectric material of dielectric
constant K is placed between the two plates
of the first capacitor. The new potential

difference of the combined system is :

Options:
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Four point charges —q, +q, +qand —q
are placed on y-axis at y=—-2d, y=—d,
y=+d and y= + 2d, respectively. The
magnitude of the electric field E at a point
on the x-axis at x=D, with D>>d, will
behave as :
Options:
| 1

Eoe —
2
1 D

e A
5 ]_'.!3
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In a conductor, if the number of conduction
electrons per unit volume is 8.5 X 108 m—3
and mean free time is 25 fs (femto second),
it's approximate resistivity is :
(m,=9.1x10 * kg)

Options:

, 10 2 Om

5 10 b Om
2 107 Om

4 10 8 Om
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i 103 Om

5 10 b Om
2 10~7 Om

4 10 8 im
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A metal wire of resistance 3 {}is elongated
to make a uniform wire of double its
previous length. This new wire is now bent
and the ends joined to make a circle. If two
points on this circle make an angle 60° at
the centre, the equivalent resistance
between these two points will be :

Options:
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A very long solenoid of radius Ris carrying
current I(t) =kte  “ (k>0), as a function of
time (t=0). Counter clockwise current is
taken to be positive. A circular conducting
coil of radius 2R is placed in the equatorial
plane of the solenoid and concentric with
the solenoid. The current induced in the

outer coil is correctly depicted, as a function

of ime, by :
Options:
I =
A
t_ [] 7 _";_
1.
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A moving coil galvanometer has a coil with

175 turns and area 1 cm® It uses a torsion
band of torsion constant 10~ % N-m/ rad.
The coil is placed in a magnetic field B
parallel to its plane. The coil deflects by 1°
for a current of 1 mA. The value of B
(in Tesla) is approximately :

Options:
1 10°

[

L

> 10

1
- 10

4 1071
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Twocoils ‘¥ and ‘Q’ are separated by some
distance. When a current of 3 A flows
through coil ‘I, a magnetic flux of 10 Wb
passes through 'Q". No current is passed
through ‘Q". When no current passes
through ‘I” and a current of 2 A passes
through ‘'Q’, the flux through ‘P is :
Options:

, 6.67x10 1 Wh

5 6.67x1073 Wb
5 3.67x107* Wb

4 3.67x10 7 Wb
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Options:

, 6.67x10 1 Wh

5 6.67x1073 Wb
5 3.67x107* Wb

4 3.67x10 7 Wb
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Options:
, 6.67x1074 Wb

5 6.67x1073 Wb
5 3.67x1071 Wb

4 3.67x107° Wb
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50 W/ m? energy density of sunlight is
normally incident on the surface of a solar
panel. Some part of incident energy (25%)
is reflected from the surface and the rest is
absorbed. The force exerted on 1 m?surface
area will be close to (c=3x 108 m/s) :

Options:
; 20x108N

> 35x1078N
8
= 15x107°N

8
73 10x10"°N
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Options:
; 20x1078N

5 35x1078N
8
z 15X107°N

8
74 100107 °N
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(c =3 x10° m/s)

Options:
; 20x10-8N

5 35x10°8N

1n-8
= 15107 N

8
74 10x10"°N
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A convex lens of focal length 20 cm
produces images of the same magnification
2when an object is kept at two distances x,
and x, (x; > x,) from the lens. The ratio of
xy and x5 is :

Options:

1 4:3
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Options:

2 3:1
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Diameter of the objective lens of a telescope
is 250 cm. For light of wavelength
600 nm. coming from a distant object, the
limit of resolution of the telescope is close
to :

Options:

. 3.0x10 7 rad

5 4.5x10 7 rad

5 2.0x10 7 rad

=]

4 L5x1077 rad
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U gIEY & AMYEYEE o9 1 = 250 cm
2 tw X fom 9| 9@ oW 9 aine
600 nm % T F Tord SEen i favies 9
BT, T

Options:

) 3.0x10~7 rad

5 4.5x10 7 rad

= 2.0x10°7 rad

4 1.5X10 7 rad
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Options:

, 3.0x10 7 rad

5 4.5x10 7 rad

= 20x10°7 rad

4 1.5x10 7 rad
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A particle P’ is formed due to a completely
inelastic collision of particles “x" and "y
having de-Broglie wavelengths A "and ’JLI] f’
respectively. If x and y were moving in
opposite directions, then the
de-Broglie wavelength of ‘I is :

Options:
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A He™ ion is in its first excited state. Its
ionizaltion energy 1s :

Options:

1 13.60 eV

. 48.36 eV
5 54.40 eV

4 6.04eV
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Options:

| 13.60 eV

. 4836 eV

3 54.40 eV

4 6.04eV
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Options:
, 13.60 eV

o 4836 eV

5 54.40 eV

4 6.04 eV
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The logic gate equivalent to the given logic
circuit is :

A

Be— o

Options:
;. AND

, NAND

z NOR

4 OR
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Options:
; AND

, NAND

2 NOR

4 OR
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Options:
, AND

> NAND

2 NOR

4 OR
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The physical sizes of the transmitter and
receiver anlenna in a communication

5}’51[’:1‘1‘1 are :

Options:
] proportional to carrier frequency
inversely proportional to modulation
5 frequency
inversely proportional to carrier
3 frequency
independent of both carrier and
4 modulation frequency
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The resistance of a galvanometer is 50 ohm

and the maximum current which can be
passed through it is 0.002 A. What
resistance must be connected to il in order
to convert it into an ammeter of range
0-05A7

Options:

1 0.002 ohm

5 0.02 ohm

2 0.2 ohm

4 0.50hm
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Options:

1 0.002 ohm

> 0.02 ohm

”
= 0.2 ohm

4 0.50hm
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A thin convexlens L (refractive index=1.5)
is placed on a plane mirror M. When a pin
is placed at A, such that OA =18 cm, its real
inverted image is formed at A itself, as
shown infigure. Whena liquid of refractive
index p, is put between the lens and the
mirror, the pin has tobe moved to A', such
that OA'=27 cm, to get its inverted real
image at A' itself. The value of p, will be :
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Correct Marks: 4 Wrong Marks: 1
Which of the following compounds is a

constituent of the polymer
i

+HN-C-NH-CH, - ?

Options:

1 Methylamine

5 N-Methyl urea

= Ammonia

Formaldehyde
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Options:

e

5 N-Hi=& i
5 STHIE]

4 ™ ELEE
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Options:
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Correct Marks: 4 Wrong Marks: 1
Increasing order of reactivity of the

following compounds for SNI substitution

is :
CHj,
—{H-—Cl it
: H,e
CHy '
(A) (B)
"'-.-.- H.x"" e e
@ 1l o ”/ “‘“ﬂ-\ct
H;CO S
() (D)
Options:

. (B)<(O<(4)<(D)

, ()<®B<D<©
. (B)<(8)<(D)<(Q)

4 (B) <(Q) <(D)<(A)
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CH;
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Options:

. (B)<(O)<(A)<(D)

, (<@ <D)<(©
. (B)<(8)<(D)<(Q)

4 (B) <(Q) <(D)<(A)
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A2l wudal ddisl AL ST [ER2n wiedl
AL HEll s 20EL?
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— CH, —0C1 AT

':Hq HHC ':.l

(A) (B)

e ; i
i | A P,

A 14 |
H;CO -

(<) (D)

Options:

. (B)<(O<(A)<(D)

, ()<B<D)<(©
. (B)<(8)<(D)<(Q)

4 (B) <(C) <(D)<(A)
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Noradrenaline isa /an :

Options:
1 Antacid

5 Antihistamine

= Meurolransmilter



s Antidepressant
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Options:
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The major productof the following reaction

is :
OH
Z T TSCHOH H,50, (cat) )
._:-:__:_.:_. -____.--"'\-\. = CI IClq r
e CDEEt ) ’

Options:
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CO,Et
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=" "COOH
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p-Hydroxvbenzophenone upon reaction

with bromine in carbon tetrachloride

gives
Options:
Br @)
SR “ F
1 HO
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In the following reaction

HCl
——== acetal

Rate of the reaction is the highest for :

carbonyl compound + MeOH —

Options:
Acetone as substrate and methanol

1 1N EXCess

Propanal as substrate and methanol

5 in excess

Acetone as substrate and methanol in
. stoichiomelric amount
Propanal as substrate and methanol

4 in stoichiometric amount
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Correct Marks: 4 WrongMarks: 1
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Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major products A and B for the

following reactions are, respectively :

I
P o I;{:'{:‘JD,[A] HE’JPE’,[E]
Options:

W o~ AN T . _CH;NH,

it



M en L cHNH

2. 2
HO_ CN HO CH,;—NH,
g _— , o]
HO CN HO CH,—NH;

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Options:

W o~ _CN ﬁ\) . CHyNH,

1.
0 OH
M en L cHNH
| 19
=8 2 e
HO_ CN HO CH,;—NH,
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HO N HO CH,—NH,
< | 3 _H
Bl ]
4

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following potential energy
(PE) diagrams represents the 5yl
reaction ?

Options:

sty i Ve e ot

| LYY ) i
i b i
] 1
|

PE| ~
1 Progress of reaction—s
o,
T .l'l|l‘l \'
PE| - l"‘-.\\._
5 Progress of reaction —»
Xl o, Sl b B P
T |I. -."«..fl
PE|
> Progress of reaction—
o N R
| ~ |

Progress of reaction—-



No Option Orientation : Vertical

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
Correct Marks: 4 Wrong Marks: 1
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No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1
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Options:

_________‘_..\: ___________
___7-,_"___'*__."__ _________
|t R
I|I I\‘x_.-"' |
i i
PE \
! |
L=

bl 9y —



T & N
PE| - \_
5 ulsui-l 9fta —
:::E::-:::,.;;:::::::::::
T [
PE. | ** \
. Ul 9fta—
1NAANE
PE | ',
. wisiAl gl —

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The peptide that gives positive ceric
ammonium nitrate and carbylamine tests
15 :

Options:

L Ser - Lys

5 Lys- Asp

= Gln - Asp

4 Asp - GIn

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T8 252 | HACHE Hiid ARIH A6
T HIfATUHA TH Al 8, d8 2

Options:
! Ser - Lys
5 Lys - Asp

z Gln-Asp



4 Asp - GIn

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ews 5 o ssiiens qls 2 Han e »iA
Sl DS 55421 20U & o 2Ll

Options:

L Ser - Lys

o Lys- Asp
3 Gln - Asp

) Asp - GIn

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Hinsberg's reagent is :
Options:

, CeHycoCl

, SOCI,

. (coc,

. CeHsS0,Cl

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Options:

, CgHsCOCI

, SOCI

. (cocu,

. CeHsS0.Cl



Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
dlesopl ulk4s 204l 7
Options:

, CgHsCOCI

, SOCl,
, (COC,

. CeHsS0.Cl

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Assertion :
For the extraction of iron, haemaltile ore is

used.
Reason :
Haematite is a carbonate ore of iron.

Options:

1 Only the assertion is correct.

Only the reason is correct.

Both the assertion and reason are
correct and the reason is the correct

explanation for the assertion.

Both the assertion and reason are
correct, but the reason is not the

correct explanation for the assertion.

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Correct Marks: 4 WrongMarks: 1
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Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The one that is not a carbonate ore is :

Options:



1 bauxite

5 calamine

= malachite

4 siderite

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Al2l-AL wigll 56 sielie 21435 420 A 2EL)
Options:

, Clsuge

5 SAHIdA

5 HAAB2

4 Bde

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HF has highest boiling point among,
hydrogen halides, because it has :

Options:

; lowest ionic character



5 lowest dissociation enthalpy

% strongest hydrogen bonding

4 Strongestvan der Waals' interactions

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Correct Marks: 4 WrongMarks: 1
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Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The structures of beryllium chloride in the

solid state and vapour phase, respectively,
are:

Options:



1 dimeric and chain
ain and dimeric

5 ch dd

3 dimeric and dimeric

4 chain and chain

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The amorphous form of silica is :

Options:



1 qLIﬁ.t‘T.Z.

> cristobalite

= tridy mite

i kieselguhr

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
faferst =1 sAfF=eg =9 T

Options:
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Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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4 Beleor (kieselguhr)

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The correct statements among I to III

regarding group 13 element oxides are,
(I)  Boron trioxide is acidic.

(IT)  Oxides of aluminium and gallium are
amphoteric.

(I} Oxides of ndium and thallium are
basic.

Options:

i (I) and (IIT) only

5 () and (I only
= (I) and (II) only

4. (D, (1) and (IIT)

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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5 (I) @& (1) |

5 (I) = (IT) =1
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Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The maximum number of possible

oxidation states of actinoides are shown
by :
Options:

. actinium (Ac) and thorium (Th)

o neptunium (Np) and plutonium (Pu)

5 berkelium (Bk) and californium (Cf)

i nobelium (No) and lawrencium (Lr)

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

I=qq e 4 | |9 s 5/ weivE gl
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Options:

] TERIEH (Ac) T91 9if@H (Th)

, T (Np) T S (Pu)



- Tehicrd (B) T a4 (Cf)

o TEfEEH (No) @1 @i~ (Lr)

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(st oAl Mo Aozl sy =AML
Rl 5181 Clellel 8 o 2UEL)

Options:

, bt (Ac) 244 AR (Th)

. A3y (Np) 244 w2l (Pu)

5 Ublada (BK) i sdlsil (CH)

Ay (No) »id a1y (Lr)

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The correct statements among [ to Il are :

(Iy  Valence bond theory cannot explain
the color exhibited by transition
metal complexes.

(II) Valence bond theory can predict
quantitatively the magnetic
properties of fransition metal
complexes.

(IIT)y Valence bond theory cannot
distinguish ligands as weak and
strong field ones.

Options:

i (I) and (II) only

. (D and (11D only

5 (II) and (III) only



. (D, (11) and ()

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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. (D), (T 2 (1)

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The maximum possible denticities of a
ligand given below towards a common
transition and inner-transition metal ion,

respectively, are :

= DOC 1Y S/ y F, Y ,rf COOz
s00C— \— coos&

Options:
1 bandé6

5 6and8
- 8and8

% Sands

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The layer of atmosphere between 10 km to

50 km above the sea level is called as :
Options:
; stratosphere

5 troposphere

= mesosphere

a5 thermosphere

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
What would be the molality of 20% (mass/
mass) aqueous solution of KI ?
(molar mass of KI = 166 g mol ~ 1)

Options:
, 151

5 1.35

= 1.08

4 1.48

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

KIF20% (5=99F/5=99H ) Sieid faeaq &1
Hiereral =71 2 2

(KI =1 Hiei 2599 =166 g mol ~ 1)

Options:

, 151



5 1.35

= 108

4 1.48

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
K1 20 % (£0/ g0)L svedld gretedl weulasl
sedl ¢al?
(KI  Hl4z §n=166 g mol 1)
Options:
, 151

5 1.35

= 108

4 148

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
At a given temperature T, gases Ne, Ar, Xe

and Kr are found to deviate from ideal gas
behaviour. Their equation of state is given
RT

V-b

Here, b is the van der Waals constant.

as p= atT.

Which gas will exhibit steepest increase in
the plot of Z (compression factor) vs p ?

Options:
1 Ne

> Ar

= Xe

4 Kr

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
1 Ne
> Ar
3 Xe
4 Kr

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
1 Ne

> Ar
= Xe

4 Kr

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Which one of the following about an
electron occupying the 1s orbital in a
hydrogen atom is incorrect ? (The Bohr
radius is represented by ap).
Options:

The electron can be found ata

] distance Eaﬂ from the nucleus.

The total energy of the electron is
maximum when it is at a distance a,

> from the nucleus.

The probability density of finding the

= electron is maximum at the nucleus.

The magnitude of the potential
energy is double that of its kinetic
energy on an average.

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Among the following species, the

diamagnetic molecule is :

Options:
1 NO

- CO

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
1 NO

- CO



Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

oAl2l sl el 54l 2] wlAusly 87
Options:

1 NO

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

During compression of a spring the work
done is 10 k] and 2 k] escaped to the
surroundings as heat. The change in
internal energy, AU (in kJ) is :

Options:
1 8

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

215 oA (spring) EAUSEL Y2 AU 514 10 K]
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Options:
1.8

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Molal depression constant for a solvent is

4.0 K kg mol~ 1. The depression in the
freezing point of the solvent for
0.03 mol kg I solution of K550, is:
(Assume complete dissociation of the
electrolyte)

Options:

o)
1 0.24 K

5 036K

2 0.12K

4 018K

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T fgaEs & fou "o dJ999a fes
40K kgmol ~ 181 K,50, % 0.03 mol kg~ !
Taermm = fom faemas + fenis | ez 2,
(| =t faem stre=a = fagrem o) =90
)



Options:

"y
i 0.24 K

5 036K

3 0.12K

4 018K

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

: 0.24 K

, 036K
3 012K

4 018K

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



In an acid-base titration, 0.1 M HCl solution
was added to the NaOH solution of
unknown streng th. Which of the following
correctly shows the change of pH of the

litration mixture in this experiment?

p.H | ]_"lH.

¥ (mL) K (ml)
(A) (B)

(©) (D)

Options:
1 (A)

> (B)
z (O

4 (D)

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
U A | AT ¥, 0.1 M HCl 9@
1 U a0 FHA a9 NaOH & fae&a §
Foeman T | 59 WA H, T H S ST
fAgm FpH-TREdT H1 WE-He Ueiva F

7
pH pli
V (mL) -1.|,.- [mL)
(A) (B)
pH | pH
V (ml) YV (mL)
(© (D)
Options:

1. §4)



2 k)
3 (O)

4 (D)

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
s RS S5 AN, 2UFUA AN BUSAL
NaOH L gi98Rl 0.1 M HCI + giel Gay,
il WL, Alieizll 541 siegadsl adl pH
AL S 42 [Havel 22 87

pH
-.‘;-’{ml'.]
(B)
pH '. pH | Y
‘»’[1.111.] T V{mL)
(©) (D)
Options:
1. (A)
2 (B)
3z (O
4 (D)

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A solution of Ni(NO,), is electrolysed
between platinum electrodes using
0.1 Faraday electricity. How many mole of
Ni will be deposited at the cathode ?

Options:
; 0.10

5 0.05



5 0.20

4 0.15

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

0.1 T o =1 3 =20 20, ST Sererel
& =4, Ni(NO,), % faeas =1 faea sraafed
foFan a1 e TN fRa e faafia
B ?

Options:

1 0.10

5 0.05
5 0.20

4 0.15

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

0.1 30 [Aga ol, a@2l4x dasels Al «ea
Ni(NO;y), - stael [Bga Boeuswd ay 9. dl
5215 U Ni L 5261 A srdl 237

Options:
, 0.10
5 0.05

5 0.20

4 0.15

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Consider the given plot of enthalpy of the
following reaction between A and B.
A+B—-C+ D.

Identify the incorrect statement.

4
20 | —
| I
15 I'. P 'I I'I
Enthalpy ;4 LA WY A |
(k] mal—1) D |\ | .
5 \ 2 II |
A+B |/
W C )
Eeaction
Coordinate

Options:
C is the thermodynamically stable
] product.

5 D is kinetically stable product.

Activation enthalpy to form C is
z 5 kJ mol ! less than that to form D.

Formation of A and B from C has

4 highest enthalpy of activation.

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

frfafas A vd B % =4 sifafman #1 el
F fea T =R w fa=ar wifen
A+B—-C+D

A1 A 4 H =15 |

20 =
. &
15 I'. P 'I II|
Tt L . N A |
{'k] g ] } 10 -.]j,' |III II'I III I,'I
5 L5 S W |
A+ L/
1 '\J‘I C I'-
Affsn
g

Options:

| CFHATTaEE w9 ¥ e 3es ¥



" D TifereFa: TR 3EE
C =1 =9 H 9w T, D F1 99H
# o A el 9fE e usdedt 9

o 5kJmol ! A ¥

CH A 9B ¥F 99 § TiFgu v
4 T F

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
wis MBAL A + B = C + D sl =il
1AW AL Al 2 5y (B Wy el d

wlupul,
— # | .'Iﬁ'*.
g T 15 II' Fa II II
= \ P f | f
3 E10 H“U" .
. - ]
7= 5 Il'k J I' .'I
1 |
A+B -.JIC .
Ul wiEA
Options:

C i GwL adlél™ (thermodynami-
<ally) 2l sy .

D @) oifcisly 220l ALy 5.

C il wUlbu 2i-aedl, D siisal
- 5l 5 K] mol ! wle9] 8.

C Higll A 24 B vtriaddl Hiel 2lsun
wie2y] izl 4y ©.

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
10 mL of 1 mM surfactant solution forms a

monolayer covering (.24 cm? on a polar
substrate. If the polar head is approximated
as a cube, what is its edge length ?



Options:
1 0.1 nm

> 2.0 pm

5 1.0 pm

4 20 nm

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1 mM 9= HfsFze f9ea[ #1110 mL UF 91
S T U HEEET FA 0,24 cm? =
2| afe drer ¥ 1 U T B9 H 9 9= b
Options:

1. 0.1 nm

5 2.0 pm

5 1.0 pm

a: 20 nm

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

1 mM Yreulsad 10 mL g1l 215 ez Herge
Y2 0.24 cm?2 A 2493l dq, 2is 22 ol 8, sd
ez Wig 215 4 ads wigsd sd dl, ol
ez deud sedl?

Options:
1. 0.1 nm

5 2.0 pm
1.0 pm

=

a: 20 nm
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Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The domain of the definition of the function

f 105113(3"3 x) is -

‘o 1
flx) =
4 2
Options:

. (=1, 0)u(l, 2)U(3, =)

, (1,2)u2, =)

. .{__-1, DU, 2)u(2, =)

4 2 -NU-L0)u(2 =)

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

1 : :

f@)= 1 log,o(x” —x) grRYfT=nfoa
42

o 1 WG 2

Options:

. (-1, 0)u(1, 2)U(3, =)

5 (L2, =)

=3 .{"1, ”]l_) {]r 2}',_#' {?.... - ]

4 (2 -DU(-1,000(2, =)



Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i 1 ol
Bé f(x) = —— + logo(x” —x) ALy

4—x

Options:
. (FL,0)u(L, 2)u(3, =)

5 (L2)UQ, =)
5 (-1, 0U(1,2)u, =)

4 (-2, -1Yu(-1,00u(2, =)

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let z e C besuch that |2/ < 1. If m:ﬂ,
5(1—z)

then :

Options:

1 5 Re(w) > 4
5 5 Re(w)>1
2 4 Im(w) > 5

, 5Im(w)<1

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al z e C T 9%R & & lzl<1. =fe

= b+3z 35
5(1-2z)"
Options:

1 5 Re(w) > 4

5 5Re(w)>1



z 4Im(w)>5

, 5Im(w)<1

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
5+3z %
o

Al ze C 5 ¥l [2<1. o=———r
5(1-2)

Options:
1 9 Re(w)>4

> 5 Re(w)>1
z 4 Im(w)>5

, 5Im(w)<1

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

I[f m is chosen in the quadratic equation
(m2+ 1)x2 —3x + (m? + 1)2=0 such that the
sumof its roots is greatest, then the absolute

difference of the cubes of its rools is :

Options:

1. 85
> 13
3. 1045
4 83

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

afe feamdra wHwT

M2+ 112 =3x+(m2+1)2=0 ¥ m 39 TFK
foran e %, T 59 g 1 9rhe Sfasan
T, 1 SHF gell % O W Ry o



Options:

1. 85
45
3. 1045
4 83

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[gauit spllszel (m? + 1)a2 = 3x + (m2 +1)2=0
Yl od m 2Hell $iE Sl 2U 5 sedl Al ellsanl
MR HeErtH 2, ol oAl eladnl AL FRus
dsled 8.

Options:

1 85
, 4
3 1045
L

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The total number of matrices
0 Ey |

A=| 2x : :

¥ , (x, yeR, XZYy) for

k_Ex y 1)

which A"'A=313 is:

Options:

i 2

o 4



Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

0 2y 1)
EE A= 2x , (x, yeR, X #
Ael A=| 2 i 1|, (x, yeR, X#V )
2x -y 1

fom e ferg ATA=3L, 8 #1 Fa 9& &

Options:
1. 2

> 4

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ofell W ATA=31, iy del AlSist
| (0 2y 1

. (x, yeR, xXZEY) -l 54

eyl 8.

Options:
1. 2

o 4

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If the system of equations 2x+3y—z=0,

x+ky—2z=0 and 2x—y+z=0 has a
non-trivial solution (x, y, z), then

N

i k is equal to :
¥

x
y



Options:

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

gfe gHIHIM AF1E 20 +3y—z=0,
x+ky—2z=0 91 2x—y+z=0 &1 TFH
#AG=E (non-trivial) B4 (x, vy, z) g,
I L I

-
L

X 24 WEE
y X
Options:

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sl {ells2eL gl 2v + 3y —z=0,x + ky — 2z=0
2 2 — y+z=0 AL w15 42 G5e (non-trivial

solution}, (x, v, z) sl L ¥y 2
] z X
S ) _ UL
Options:
3

1 4



Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Some identical balls are arranged in rows

to forman equilateral triangle. The first row
consists of one ball, the second row consists
of two balls and so on. If 99 more identical
balls are added to the total number of balls
used in forming the equilateral triangle,
then all these balls can be arranged in a
square whose each side contains exactly
2 balls less than the number of balls each
side of the triangle contains. Then the
number of balls used to form the equilateral
triangle is :
Options:

1 157

o 262

2 190

4. 225

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



F9 UF 9H 1S Ufemdl § 50 YRR 1@ TS 8
o = U= g s = €1 geet dfaa |
uF iz 2, gudl e | 4191 a6 wen
A= Higaal | 7S & | TEg s 99 | o
el el § Afg U S 99 e AR Wi & 9H
a1 57 9 el U UH T AR H
N HFAT & Fadet gerE e § B # uoE
o9 H 31 21 F9 E | A e e e
ﬂﬂ‘ﬁﬁﬁﬂﬁm%

Options:

y 157

o 262

2 190

4. 225

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
wellsy BS1SL ool 52els i B4 12l ¢iRlHl
el &, M R s sl v ©, Hlw gr o
Bl BRIA © wie WL Hld 2 L., HAGly
(Gisiel el sqzEd 58 sl vl ot
oflsd 99 HuIA S8l GAUHL 2ud, ol U @l
okl 2ty 2z 2lladdl 2isid 5 o<l £5 ellsy,
Gisteil g5 vllsy svedl E512Al 4Ud 8 drl 53l
ORI o o7 Sl 2L AU B, dl Wl
(Blslel cdidel quzdd ssiei-l s

&,
Options:
1. 157

o 262

5 190

4. 225

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



If some three consecutive coefficients in the
binomial expansion of (x +1)" in powers of
x are in the ratio 2: 15: 70, then the average
of these three coelficients is :

Options:

1 227

232
5 625

4. 964

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

g (x+1)" & x HI =6 H TGI8 997 H FiE
1 AR O 2: 15 : 70 F S H F, @
= o9 O R S E

Options:
1 227

232
5 625

4. 964

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

v AL siddid, (v 1) [gual Frazend od 5ids
0L 5[5 MRSl 21 15 : 70 2JeldHl €1, dl
PR qeRsHl el i,

Options:
1 227
232

5 625



Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If the sum and product of the first three
terms in an A.P. are 33 and 1155,

respectively, then a value of its 11" term

is:

Options:
| —36
> —25
3. 25
4 —35

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TG Ueh WHIR 920 & 999 919 T8I &1 IR
97 AT FAY: 33 941 1155 €, 9 sHE
115 I8 1 UF 9 & ;

Options:

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
od 15 Huidz fel (AP) wi waH =9 Y-l
HOLL 2 2SR 25 33 24 1155 @l dl
il 11 Wt el Bua )

Options:



Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The sum of the series
1+2%3+3%x5+4X7+....upto 11" term
is:

Options:
1. 916

o> 945
3. 946

4 915

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
GUT1+2X3+3X5+4%x7+.... % 119 9
T ATHEA © ;

Options:

1. 916

= 945
= 946

4 915

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Sal 14+2%3+3X5+4x7+. ... -l11 M e
el el 8,

Options:

1. 916

- 945
3. 946

4 915



Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If f: R— Ris a differentiable function and

1 5

fi2)=6 then liny | £

is :
6 )

Options:
1.0

2 ')
12f(2)

4 H'Q2)

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A f: R — R T AT FeH €041 f(2) =6

fix)
%r, 1 lim I
i

2tdt
(x—2)

T

Options:
1.0

2 ')
127 (2)

4 HQ)

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
od f: R R 2l Elsadly Bey ¢id 2 f2) =6,
: o
<o T g
Al lim _[

x—32 P (X 2]

Options:
1.0

2 2f'(2)



5 127

4 A1)

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fx) |alwr—x|+1, x<5
1 ¢ -1 X)=+
If the function . tbL‘t‘ A e

is continuous atx =5, then the valueofa —b
is :
Options:
3

1. ™D

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i

alw—x|+1, x<5
x)=1
R wE SO\ s, x5

.r=5‘-“l'-€1‘3fff?[%_.?ﬁa-hfﬂqﬁ%:

Options:
2
i. w—H
2
5 T+
2




=

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

3 Raw f() [alw—xl+1,x<5 _
x)= N
sl (A8 ] 13, x >52 ¥=5

YA M €14, dla— b Al Bua
A

blx—

Options:
7]

[t

L
o
=

N
UI"

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
x
If fix)=[x]— [IJ' x e R, where [x] denotes

the greatest integer function, then :

Options:
lim f(x) existsbut lim f(x) does
T—sd+ x—>4-

1 not exist.

| lim f(x) exists but lim f(x) does

e x—d+

- not exish

Both lim f(x) and lim f(x) exist

x—d- r—d+

but are not equal.

fis continuous at x=4.



Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
e flx)=[x] - [ } xeR 7, 9@ [x] FETH
Ui FeH T,

Options:

'_Iiriy_.f(x'} #1 wfmsa 2w
| lim f(x) 1 e T &

1
lim f(x) ®1 @feme @ W
iy ol
lim f(x) o AfEe T8 T
o r—d+
lim f(x) q91 lim f(x) S F1
r—rd— rosd+
- A € T 98 S0 A8 ¢ |

x=4 W fHad T

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

oA flx)= []—[ } x e R, sl [x] =l HenH

yells Fay suld 8, dl

Options:
111.141 f{x}jﬂﬁ*\rﬁr‘:{@‘ﬁq ILT f(x)
r—d+
o @ifeiret w2,
lim f'{x}-_}*ﬁl{_\dﬂﬁ‘{ﬁ lim f(x)
x—4= x—sd+

. o ifeteet ll.
lim filx) A Lim f(x) e
e x—d+

5 Mlcd gl B Wig Wil -l

3 x=4 AP Held ©.



Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A waler tank has the shape of an inverted

right circular cone, whose semi-vertical

;7
angle is tan ! (:] Water is poured into it

at a constant rate of 5 cubic meter per
minute. Then the rate (inm/min.), at which
the level of water is rising at the instant
when the depth of water in the tank is
10 m; is :

Options:

1 1/157w

o 2/m

4 1/10%

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

s : ' Ne @
+1 &, Taeer 21+ -9 = tan I[;J 1 59H
T 5 949 =22 9fq 992 %1 9919 =2 9 =
S S| A S H IET RS 10 | 2 W
e 22 ( Hi./fA. ), fag W uH #1 [ae 9. @
%2

Options:
; 1/15w

o 2/m

4 1/10%

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Guaid dot-orly 2y 2usi-l =15 well-l 2isl

S mm GEm @ 1Y = ;

& ool 26lBi:5lel tan I[;J 5. 5 ud Hlez

et 2 A 2 g2 well srasi 2ud 6. dl

2islil weldl GRud s adll 10 Ml € cui

yreflHe zazdl qasal g2 (dl/ Bz =)
8.

Options:
, 1/15%

> 2/m

4 1/10m

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If

je’*ﬂ'x(sevx tany f(x)+(secx tanx+sec’x ))dx

=% f(x)+C, then a possible choice of
fix) is :
Options:
1
. secx—tanx——

1
secx +lanx+—
5 =

1
xsecx+tanx+—
2. 2

secy +xtanxy —

I | =

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



afg

Jf.‘:'mzl (secx tanx f(x)+(secx tanx+ 5-;_‘-'1;:2.1'}]111

— e flx)+C, @ flx) = T H9E fasmey

(choice) g
Options:
1
secy — lanx ——
1 2

1
secx+lanx+—

z. =
1
xsecx+tanx+—
3. 2
1
secy+xtanxy——
4 2

Question Number : 74 Question Type: MCQ Option Shuffling
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Py

|
jc""—ﬁ-l (secx tanx f(x)+(secx t"mu+5{_¥:2.t})clx

B

Options:

secy — lany

H
b | =

1
secx + lanx+ sy

2.
1
rsecx+tanx +—
2 2
1
secy+xtanxy ——
4 2

- Yes Display Question Number : Yes Single Line Question Option :

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1



The value of the integral

1
Jx cot (1 x4 ) dx is:
0

Opftions:

] 1

= — —log 2
N 2105.5

— —lg.2
o 2

i1

— —log 2
z 4 =

T 1

LN
g 2 2 %8

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

1
A Ix cot 1(1-2% +2tydx FHARE:
0
Opftions:
r1
L log.2
1 S8
= o2
i
13
T g2
z 4 o
7w 1
bisis £ 2
g 2 7 %8

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
1

-[x cot 1 (1-x% 4 _1'4] dx =
0
Options:

e ———————



W= | =
I\Jé}«t
2

1

— —lg.2
2 2

aw

— =l 2
z 4 =

w1

bsts iy 2
g 2 2 %8

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The area (in sq. units) of the region

2
A={tx };J:yTix =y t+4} is:

Options:
1 18

= 16

53

i3

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

2
851 A={(x, y): L <x<y+4) =1 EETEA

=
(" zFmEai §) ¥
Options:

1 18

= 30

s |4n
|9



Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

-

¥y

2

UEW A=|(x, y):l-<x<y+4] 4 #ua

(=l =544l 8.

Options:
1 18

= 30
= 16

53

i3

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
dy

o e T
chs:ta ysinx m,{[]c:_a.-ij)and

[ ()
.U{ ?FU , then },-"(EJ is equal to :

7 \
Options:
_2
1 2
2
5> 243
2
5 43
e
7
L2

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ay o
Tf= cosx o ysinx = 6x (D<x< E}HEIT

.f‘.T"' -‘. T ) "
.1f|k1=ﬂ %*,ary(gj R :

(1



Options:

2
03
2

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

s»}tcmxd—y ysinx = 6x {]-i-c:E e
ae 7 RS )

\ L
1![I]=U ALyl — | erer 2
- "3" ] - . ﬁlll A T S e
Options:
2
i
1 2
2

> 2B

[}

5 43
el
L2

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the two lines x+(a—1)y=1 and
2x + al];= 1(ae R—{0,1})are perpendicular,
then the distance of their point of

intersection from the origin is :

Options:



s ¢
b

—
n

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Afg & WEE x+ (a - y=1 @ 2x +a’y=1
(aeR— {0, 1)) &i=ad &, o 37 Ufdesed fag
?ﬁﬂﬁﬁ:@ﬁaﬁ%

Options:

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
od of 3ulil x+(a—T)y=1 Wi 2y +azy=1
(ae R—{0, 1)) det € dl, dul ozleg

Sy

Glorleig el »idx &.
Options:
NG

-

1,




[
%ﬂ o

Ul | 1]

4
-

o
| k2

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A rectangle is inscribed in a circle with a

diameter lying along the line 3y=x+7. If
the two adjacent vertices of the rectangle
are (—8, 5) and (6, 5), then the area of the
rectangle (in sq. units) is :

Options:

1. 96

5 72

z 84

4. 98

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

U g4, foq® uw =" W dy=x+7 &
afew € F Sidid UF SEd 99 T R
Afe 21 = 21 Ger 9 (-8, 5) 991 (6,5) F,
ol STad 1 G (9 sREE H) 7
Options:

1 56

o 72
2 84

4. 98

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
s¢ell Sl Z VL By =x +7 U2 €1 dsll 245 dqnH
w5 dolzy 2ol 8. el @l deizHAl
WAL BRI« (—8,5) 244 (6,5) €14, dl
il dojlinid] s (2l wisHHl)
8.
Options:
1. 56

o 712

3 B4

4 98

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The common tangent to the circles

x? +1,r2=4 and J:E+y3+6x+ 8y—24=0also
passes through the point :

Options:

L (6.4

, (6 -2)
= (& —2)

4 (—4,6)

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ﬁ_?ﬁ 12 +];2=4 G 1'3+y3+ bx+8y—24=0
%1 Al w9 v e 1 1 feg fag o
AT I T 7

Options:

L (-6

o (6, =2)

2 {4—2)



4 (—4,6)

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Aquil x2 + 12 =4 2 x2 + y2+ 6 +8y— 24 =0
AL e st [Cguial el
Yz Y1y B,

Options:

1, (=6:4)

o (6, =2)

z (& —2)

4 (—4,6)

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The area (in sq. units) of the smaller of the

two circles that touch the parabola, ]F =4x

at the point (1, 2) and the x-axis is:

Options:
, 4w (B+42)
, 87 2-2)
. 8w (3-242)
, 42— 2)

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e = 4x i 95 (1,2) T 79 1 =
T x-37%1 1 TF A 911 9 g ° B g9
1 &EE (= gl H) €

Options:

4w 3+ 2)

1



2.
. 8w (3-242)
, 42— 2)

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
x- g AL e P =4x A g (1, 2) 2un
eldi ol AquUAiAL AL ddo] s (=l

wsvdl) 8,
Options: .

| 4w (3+42)

, 87 (2 =~ %)

. 8w (3-242)

, 42— 2)

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the tangent to the parabola y>=x at a
point (a, B), (B = 0) is also a tangent to the
ellipse, x2+ 21;2= 1, then « is equal to :
Options:

;. NZ 1
o 2 -1
5 245 —1

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



AfE T i =x F T g (o, B), (B> 0)
o, B9y i@, arEgT a2+ 2y2=1 &1
Wﬁﬁﬁﬁf&ﬂﬂﬂ?%

Options:

1 £+1
> V2 -1

3 242 -1

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o Wadd P=x -l 25 B (o, B), (B > 0)
vl 2uals 2 G 2 +212=1 -l yel
vusls gl dl e Bl B,
Options:

1 £+1
5 3 =1

5 25 —1

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let P be the plane, which contains the line
of intersection of the planes, x + y+z —-6=10
and 2x+3y+z+5=0 and it 1is
perpendicular to the xy-plane. Then the
distance of the point (0, 0, 256) from P is
equal to :

Options:

65

> 11/\5



5 20545

4 17/ 5

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
x+y+z—6=0709 2x+3y+z+5=0 Ea
wfoeer T Jafae 2 991 98 vy-09 & @aad
21 @ g (0,0,256) H1 P H g A 2
Options:

6545
> 11/45
. 20545

4 /5

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

QIEL S P 2lg Hddd B 5 o Al
x+y+tz—6=0 w2y +3y+z+5=0 <l
EELUIA HAA & L o xy- HAHda det 8. dl
(5 (0, 0,256) < P @l 2id2 8,
Options:

65
> 11/45
. 20545

4 17/

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The vertices B and C of a AABC lie on the

P o (SR
3 0 4511{: 1a =

units. Then the area (in sq. units) of this

line,

triangle, given that the point A(1, —1, 2),
is :
Options:

) 5V17

> 34

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AABC % 94 B 91 C @l
x+2 o T -

S X frorq 991 BC=5
e defem e fag A, —1,2) & @
=0 399 1 &ha (T sHEdi H) ¥

Options:

) 5V17

> 34

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
.~ X+2 y—1 z £ 2
AABC AL 2wl = = — Y 2{Hdal
3 0 1
(296521 B 214 C 219l 6 & o2l BC=5 2154
. [Gg A1, —1,2) 24 8, dl =1 Bsed

ElEisuL (L 25w i) 108

Options:



Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If a unit vector a makes angles /3 with

s

i ,m/4with j and O e (0, w) with  , thena
value of 0 is :

Options:

]

T

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A

afs TF WO AW 2, @ W/, ] W

w/4 T k 0 e (0, w) 0 A E, 6 F

UF HA ©
Options:
DT

1 12



W
NE

Sqr
4 6

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

FI = i M &
ol wisd WEW a @i WA w/3, ] WA

/4 HEL kM2 0 € (0,7) VLSW v, ol 0 -l

w5 [fud 8.
Options:
ST
. 12
2
g 3
T
=3 4
Sqr
4 b

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The mean and the median of the following,

ten numbers in increasing order

10,22, 26, 29,34, x, 42, 67, 70, y

1
are 42 and 35 respectively, then y is equal
<

to

Options:
1 7/2
> 8/3

3 7/3

z; A



Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
FYHE FH H 19 29 e
10, 22, 26, 29,34, x,42, 67, 70, y

-~

¥F IS qU1 HITAE FAY: 42 9135 &, @ .
T T
Options:

1. 7/2

» 8/3
3 7/3

z; W4

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ALl 2l ST 2UE 10 Hvail

10, 22, 26, 29, 34, x, 42, 67, 70, y

AL HEMS5 i WEHRY D5 42 A 35 €1, ol

¥
e 4 e 5 EIEH
¥

Options:

1. 7/2
, 8/3
3 7/3

a; 4

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Two newspapers A and B are published in
a city. It is known that 25% of the city
population reads A and 20% reads B while
8% reads both A and B. Further, 30% of
those who read A but not B look into
advertisements and 40% of those who read
B but not A also look into advertisements,
while 50% of those who read both A and B
look into advertisements. Then the
percentage of the population who look into
advertisements is :

Options:

1 12.8

. 13

5 135

4 139

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T YT | < HHER T A 997 B WY @
F | =g 9 & T vt 11 25% SEEn A e
2 991 20% B TSl 2 54 fF 8% A 1 B 2Ff
=1 Uedl © | SH HAfdiia, A 92 941 B 9 9=
el § 30% o S € ST B T2 a9 A
T e FE | o 40% R S €, 5= F
AT B T F 9B T § ¥ 50% fammE
TEd 21 o SEEn 1 faare eme aei #@
‘Jﬁﬁlﬁ%:

Options:
; 12.8

2 13

- 135

4 139

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

s UL o Al A 2 B uslBRId A
5. 2 Adaedl sl 25%, A 4= dAuL20%,
B aid & sy 8%, A 2 B vt al™ 9,
Gyzid, A didl €14 YL B A 9l €l a@ii-l
30%, sAdidl sg @t & wirl B a2l €4 9L A A
il €14 AL 40 % L1 sAdRUcll o= 8, sl
A 2 B vi didl € a2l 50%, sadRidl
og @l 5. el sl sacll € el sl 2saEl
8.

Options:
; 12.8

2 13

5 135

4 139

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The value of sinl(® sin30° sinb{" sin70" is :
Options:
1
1 32

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
sin10° sin30° sin50° sin70° 1 HM € :

Options:



Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
sin10° sin30° sin50° sin70° Al (534

0.

Options:

I
1 32

1
5 16

3
5 18

*
4 36

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Two poles standing on a horizontal ground
are of heights 5 m and 10 m respectively.
The line joining their tops makes an angle
of 15° with the ground. Then the distance
(in m) between the poles, is :

Options:

5
| 22+ 3)



10(+/3-1)

z.
5 5(2++/3)

4 5(¥3+1)

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AfFs Y| T @S 2 @l B FEE HA
5 HieX 91 10 HieX &1 3% fovadi =1 faem
Il T SRIEE | 15° 1 W S g1
= F A g (A H) §

Options:

2(2443)

10(+/3-1)
5 5(2++/3)

4 5(¥3+1)

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

WlEilder ol uz 245 5 |l 2 10 L
Glaudeuo A 2oy Glolg 8. dii-l 2@ sdsdl
0L ol B 15° Al Vel YA B, dl wl
2ol szl widn (Hlui) 8.
Options:

2(2+43)

10(+/3-1)
5 5(2++/3)

4 5(¥3+1)



Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If p—(gwvr) is false, then the truth values

of p, g, r are respectively :

Options:
, BEE

o LR
= T,F,F

. EEF

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ifz p— (qvr) T T B, @ p,qrFEA
HHE FE: E

Options:

. BIE

> T,T,F
5 T,FF

4 EEF

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o p=> (qvr) 2ucd i, dlp, q, r 4 Al
YL w54 B,

Options:

1 | R e &

> T,T,F
5 T,F,F

4 EEF



